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ENGLISH VERSION

Instructions : (1) There are total four questions.

(2) Marks of each question is shown on right side.

(3) Show required calculations as the part of answer.

1 The Y Ltd. produces 1,56,000 untis of production. The cost

per unit of the product is as follows. Based on the information
calculate the amount of Net Working Capital :

Particulars Amount (Rs.)
Raw Material............................ 90.00
Direct Labour ..............ccc....... 40.00
Overleads...........ccccooevvniiiennn, 75.00
Total Cost.....ooovvvviiiiiiiiie, 205.00
Profit.......oooiiiii 60.00
Selling Price ........ccccoovvirnnnn. 265.00

Additional Information :

(1)

2)

3)

(4)

(5)
(6)

(7)
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The raw materials are in stock, on average, for one month
and materials are in process, (50% Complete) on average
for 4 weeks.

Finished goods are in stock on average for ol month.

Credit allowed by suppliers is 1 month and to Debtors is
02 months.

The average lag in payment of wages is 1.5 weeks and of
overheads is 1 month.

20% of the production is sold on cash basis.

It 1s expected that a sum of Rs. 60,000 is required as
minimum cash in hand.

It is to be assumed that production is carried on evenly
throughout the year; Wages and Overheads accrue similarly
and a time period of 4 weeks is equivalent to a month.

OR



1 Z Ltd. sells its products on a gross profit of 20% on Sales. 20

The following information 1s taken from its books of account for
the year ended on 31-03-2018 :

PartiCulars ueeeeeeccccccccccsnnnnnnneccsssssssnssnssnssssssssssssssnnsns Amount (Rs.)
Sales at 3 months credit ... 50,00,000
Raw material .............cooooiiiiiiii e 12,00,000
Wages paid-average time lag 15 days ...............cooeiiiinnn, 9,60,000

Manufacturing Expenses - Paid one month in Arrears ..... 12,00,000
Administrative Expenses - Paid one month in Arrears ....... 4,80,000
Sales Promotion Expenses-payble half-yearly in Advance...2,00,000

(1) The Company enjoys one month's credit from suppliers of
Raw Materials.

(2) The Company maintains 2-month's stock of raw materials
and 1.5 month's stock of finished goods.

(3) The minimum cash balance is to be maintained at
Rs. 1,00,000 as precautionary measure.

Based on above information and assuming 10% margin, find out
Working Capital requirements of the company. (One year =360 days)

2 From the following information of Sapna Ltd. prepare Cash 20
Budget for March to May 2018.
(1) Cash and bank balance on 01-03-2018 Rs. 24,000
(2) Rate of gross profit on cost 50%
(3) Other information :

Months | Purchases Opening Stock Overheads
(Rs.) (Rs.) (Rs.)
February 96,000 8,000 16,000
March 1,12,000 12,000 20,000
April 1,28,000 20,000 24,000
May 1,44,000 24,000 28,000
June 1,60,000 22,000 32,000
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(4)

(%)

(6)

(7)

(®)

60% of purchases and sales are on credit terms. The rate
of cash discount both for the cash purchases and cash sales
1s 5%.

In April 2018 Machine costing Rs. 40,000 1s to be purchased
by installments. 20% amount to be paid at the time of
agreement and the rest amount is to be paid by four equal
monthly installments with 12% interest per month.

Time leg :

Credit Sales............. 1 month
Credit Purchases...... 1/2 month
Overheads ................ 1/4 month

Monthly depreciation of fixed assets Rs. 4,000 1s included
in the overheads.

At the end of each month minimum cash of Rs. 60,000 is
to be kept. Fund can be borrowed in multiple of Rs. 8,000
on monthly basis at 12% interest per annum. Interest on such
borrowing is payable on the next month.

OR

Prepare a cash budget for three months ending on 30t June,

2018 from following information of Beez Co. Ltd.

(1)
2)

3)

Cash and bank balance as on 15t April, 2018 Rs. 2,64,000

The cost of goods in terms of percentage of the selling price
1s as follows :

Materials 40%
Wages 10%
Factory overheads 20%

The production and stock of finished goods are as follows:

Months Production (units)|Closing Stock (units)
February 12,000 3,000
March 15,000 4,500
April 18,000 1,500
May 13,500 4,500
June 15,000 3,000
July 18,000 6,000

20
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(4)
(5)
(6)

(7)

(®)

9)

Selling price is Rs. 200 per unit.
The proportion of cash sales and credit sales is 1:4.

50% of credit sales 1s collected in the month after sales,
40% the second month after sales and remaining in third
month after sales.

For anticipated sales of each month necessary purchases are
made in the preceding month. 50% of purchases are made
for cash and the payments for the remaining purchases are
maid in two equal monthly installments there after.

Time lag :

Wages 1 month

Factory overheds 1 month

A new machine costing Rs. 4,50,000 will be purchased on
15t April, 2018. The payment is to be made in two equal
monthly installments thereafter.

Giriraj Ltd. sells on credit. Its current sales is Rs. 32,00,000

(on credit)

Other informations are as under :

(1)
2)
3)
(4)
(5)

The current average period of receivables is 72 days
Per unit variable cost is Rs. 25

Average cost per unit is Rs. 32

Selling price per unit is Rs. 40

Total days of the year = 360

The company plans to strict the credit standards. Due to this, the

average period of receivable will reduce by 27 days as compared

to current days and the sales will be of Rs. 28,00,000.

If the earings rate 1s 20% then this proposal is appropriate ? Give
your opinion on the basis of calculation.

OR

15
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3  Information of Devraj Ltd. is as under : 15
Current sales are Rs. 12,00,000
Selling price per unit is Rs. 30
Average collection period = 30 days
(Variable) Current cost per unit is Rs. 20
Average cost per unit is Rs. 25
Bad debts = 1.5%

The company desires to adopt the liberal credit policy for
increase the sales. So that 20% of sales will increase. The average
period of, collection will be of 50 days. Bad debts will increase
from 1.5% to 3%.

If the company wants 15% of expected rate of return then, is
it proper to make the Liberal credit policy ? Advise on basis of
the calculations.

4 (a) Findout the missing items from the following particulars 5
of Amar Manu. Co.

Particulars Year-2020 Year-2021
Average Stock Rs. 40,000 Rs. 60,000
Purchases Rs. 2,50,000 Rs. (?)
Opening Stock Rs. 30,000 Rs. 40,000
Stock turnover rate (?) Times 10 Times
(b) A Co. Ltd. manufactures special product 'Ami'. The 10

following particulars were collected.

(a) Monthly demand of Ami 800 units.
(b) Cost of placing an order Rs. 150
(c) Annual carrying cost per unit Rs. 26
(d) Normal usage 150 units per week.
(e) Minimum usage 100 units per week.

(f) Re-order period 1 to 5 weeks.
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(a)

(b)

Compute from the above :
(1) Economic order quantity
(2) Number of orders to be placed in a year
(3) Re-order level
(4) Maximum level
(5) Minimum level
(6) Average stock level (on the basis of EOQ)
(7) Safety stock level.
OR
From the following information calculate inventory

turnover ratio and turn over period :

Particulars Material-X | Material-Y
Opening Stock Rs. 80,000 1,60,000
Purchases Rs. 2,60,000 4,00,000
Closing Stock Rs. 40,000 80,000

From the following information calculate :
(1) Economic order quantity
(11) Minimum level

(111) Maximum level

Monthly consumption ....................... 600 units
Cost of placing an order ................. Rs. 500
Carrying cost per unit...................... 10%

Price per unit.............c...oooeeiiiinnn, Rs. 200
Ordering period .........cc..ocovvvveeiennn, 4 to 6 weeks
Average usage per week ................. 150 units
Maximum usage per week ............... 200 units.

10

DW-19080002040401 ] 12 [ 1030 / 32-7 ]



